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5250+42 = 6846 + 42 = 8988 + 42 =

45300 - 6000 = 123900 - 40000 = 987400 — 340000 =
Write 0.2 as a percentage = Write 0.7 as a percentage = Write 0.01 as a percentage =
4 9 3 3 6 7

-4 —= — 4 —= 1 — 4+ —=

7 14 4 5 8 9

3x4x5= 8x4x9-= 12x7x11=

Find 20% of £600 = Find 21% of £600 = Find 76% of £600 =
0.63+1.6= 6.03 + 8.73 = 45.9 + 35.48 =

24 x 1354 = 24 x 2634 = 24 x 5453 =

76 +135 = 153 +1763 = 2753 + 1753 =

What is LXV? What is CXLVIII? What is CDXLIV =



5250+42 =125
45300 — 6000 = 39300

Write 0.2 as a percentage =
20%

4,9 _17_. 3
7 14 14 ~ 14
3x4x5=60

Find 20% of £600 = £120
0.63+1.6=2.23

24 x 1354 = 32496

76 + 135 =211

What is LXV? 65

6846 + 42 =163
123900 — 40000 = 83900

Write 0.7 as a percentage =
70%

3,3_27_.7
4 5 20 20
8x4x9 =288

Find 21% of £600 = £126
6.03 +8.73=14.76

24 x 2634 = 63216

153 +1763 = 1916

What is CXLVIII? 148

8988 +42 =214
987400 — 340000 = 647400

Write 0.01 as a percentage =
1%

6 7 110 38 19
1—+—=—:2—:  —
8 9 72 72 36

12x7x11=924

Find 76% of £600 = £456
45.9 + 35.48 = 81.38

24 x 5453 = 130872
2753 + 1753 = 4506
What is CDXLIV = 444



